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r clear -
3 clc

4 close all

9 t=1:2:500;

i y={((50/0.05) + ((50/1.0025)*sin(t)) + (((50%0D.05)/1.0025)*cos(t)) - :an_qgfrre:p;_u,uyt]”
7

g

g

= tm=0:2:500;
= ym=( (1000) - (800*exp (-0.05*tm) ) )
= Tf[t,tm] ]:
10 = ¥=[y, ym]
11l — plot (T, Y, 'green')
== grid on
13 — grid minor
14 - xlabel ('"T (min) '}
e vliabel ('V(licre) ')
16 = col header={‘timin)’','V{Litre'};

=] — xlaswrite ('odevbesdata.xlsx', [T(:),Y{:)]1, 'veriler', 'A2"):
a0 — Xlawrice (' 1evoesdata.xlsx',col header, ‘veriler','Al');
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